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Lesson M2 Part 1 ~ Calculating Surface Area of Right Rectangular Prisms

e Developing:
1. The diagram shows the net of a right
rectangular prism. The area of each
face is given. Calculate the surface area

32 cm?

of the prism. 12 cm?

24 cm?

12 cm?

24 cm?

32 cm?

Area=_12 + 24 +_ 12 + 24 + 32 +_ 32 =[|dbcm?

4. Here is the net of a right rectangular

prism. The area of each face is given.
What is the surface area of the prism?

21+45+27 4+ 45 +15 4+ 1S
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2. Determine the surface area of the rectangular prism.

Rectangle A has area __ &>
P C —“Jim  Rectangle B hasarea __|
L A 13%m Rectangle C has area __ &

Surface area=2 X

S cm?

HO cnw?

= 10b crn?t

5. Sketch a net of this right rectangular
prism. What is its surface area?
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6. Find the surface area of each right

rectangular prism.
a) b) 9
4cm 6cm S o

6cm
8cm |

‘l'DP/bD‘H‘Dm‘.
2% Yxt =33 2x bxb = 72 Lx2xd =12
+
lefH{right 1 & ¥
- =2
2xY4xg = 64 Zxlxle=12 Rl -
+ +
SEp—— 2%xbxb =12 2x 3x7= 42
2x4x B =64 . -
2 2
T ‘leocm | B2 cm
e Proficie~t:
7. Find the surface area of a right
rectangular prism with these
dimensions.
a) 4mby3mby l0m b) 3cm by 5 cm by 8 cm
2x4Yxd= 24 2x 3 x 5= 3O
2% 4% 10= Bo 2x 3> xB= HB
e m? 1S 8 crn?)

9. Tanya paints the walls of her family
room. The room thigh-} 2XTx3d = 42

7mby4s‘w3,m,/‘7x5 T Yxd 2LxU4x3 =24

The walls*need 2 coats of paint. b . %x2 = 132 2

A 4-L can of paint covers 40 m”. > 2 coats of Pain+

a) How much paint should Tanya buy? 4 cans 122+ 40 = 3.3

b) What assumptions do you make?s cloor / wirdows L orF )

in e . . IHC—‘Uded ih L'- cans . +
Explain. hic‘sah; :f o s, vy mad il pain
they don't gedt
* Floor € ceili are painted

not bear:ﬁ ainted



3. Glenda and Louis each design a rectangular package.
Whose package has the greater surface area? Show your work.

Glenda’s package:
SA=2%12%x B +2%20x% B+ 2x20x%x |2
20em =_192 + 320 + 480
=_992 crn*
" 8cm
12cm
Louis’s package:
SA=2x2Hxb+2% 106 + 2x [OXx 24
Kk =_289 + 120 + HBO
6cm =_BRD sz
24cm

A92. > 888 so,_ Glerdn's package has the greater surface area.

13. Which prism has the greatest surface
area? The least surface area?

P: 2uw2xbk =24

2x 2x4 = |l
22X 4%k = 48

2

4¢m : 88%
J‘gﬁk’ 2

2cm R 2% IRB = 1l
® 2% Ilxd= b
2% Bxd = HB

4cm 7OCMZ
3em R: 2x3dx5S = 30D
® 2xdxY = 29
2x4%x S = 4o

grea+es+ SA: prism R A4 cra?

leasst SA: pridsm O



. Ex+endiﬁ3 :
4. The surface area of a cube is 294 cm?
a) What is the area of each face of the cube?

294 + b = Hq Cra 2
b) What is the length of one edge of the cube?

\j"l‘:\ = 7 o

10. The surface area of a cube is 54 cm®.
a) What is the area of one face of

thecube? SUH+l = 9cCm?*
b) What is the length of one edge of

?
the cube? W B B e

8 An office building is in the shape of a right rectangular prism with height 200 m, length
60 m, and width 40 m. The top quarter of each vertical face of the bullding is to be covered
with & large banner advertising a major sparting event. What is the total surface area ta be
covered with banners?

2% 200% O = 24 CoD
.} 2% 200 % 40 = | (= OCOD
200 ; 94 o 000 PO
- » | | e———“cbuar-}er !
L.—JAOM
Om 10 OOD m’i

12. The Sandberg Institute building in
Amsterdam generates revenue by selling
advertising space on the exterior of the '3
building. The building is a rectangular 4O

prism with dimensions 50 m by 40 m e

by 75 m. Suppose it costs 1 Euro per

month to rent an advertising space of S0 cm? = 0.005m?

50 cm?. Each of the 4 walls of the Lie: Semxiocm J
O0.05m% 0. Inn

building is covered with advertisements.
How much money will the institute
earn in one month?

2RTIS % 50 = 150D
2x1S X HO = boDD

13,500
<+ 0.005

2. 700 coo
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15. Each object has the shape of a
rectangular prism, but one
face or parts of faces are missing,.
Find each surface area.
a , b
: : . ) 1% IDx 1D

Cqgem ™
(ro ‘o p)

Ix I8 x 1O = 1BO

2% 1B x 25 = Aco

2% 10X 2S =500
|1580 e

16. Take It Further A right rectangular
prism has a square base with area 4 m?>.
The surface area of the prism is 48 m?>.
What are the dimensions of the prism?

H8 -2(4) = Yo+ 4 = IOm?
N

&H‘mz 2 xS

HxlOXIO =4 X HxH

Dinvensions : | 2 2% 5 N:\
= |

17. Take it Further A right rectangular
prism has faces with these areas: 12 cm?,
24 cm?, and 18 cm?
What are the dimensions of the prism?
How did you find out?

2 24 13 b
~ ~ ~

w12 I w24 | %18

z"‘,b 2% 12 1*q .'l

@D ax8 ax 3

100
336

H3k Cm‘z]




